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There is a monetary involvement — RN X997 N2ORT

OVERVIEW

The X nx explains the necessity for the miwn to teach us that 757 X3 Q0KRW 797
0w is effective by the case of wnn 7°nnP2Y 7°7 2R %W W 77w and by the case of
17 DO0IXR PR AT KT 1077 200 1KY 22790, We would not be able to derive that the
0°7y are believed to say 11°77 01K 92X (on account of 1oXw 71977) from the fact that
the buyer is believed to say 11°7 7°nnP?1 (on account of “OXW 1197). The reason is
that by 7 737w there is a X117 X377, however by 17X 0>7v7 there is no X377
X1Mn7. Our Moo explains this difference.

10195 D793 PR DTYN YN NTYA PN NN ADINAY ININ 13529 "W
The 1''9 explained that in the case of 7> 2Rk 5w 7 77w he is believed because
the one who is saying 1»n 7°nnp21 12 11 77w is in possession of the field, therefore
the "0XWw 71977 supports his P11 and is effective; however the witnesses are not in

possession of anything (they are not in possession of the money which the 1% may owe the
m%n); we may have thought that in this case q0Xw 11977 is insufficient. Therefore it was necessary
for the 71wn to teach us that "oRW 1397 is effective even if he is not a p1n.

SUMMARY
There may be more reason to say 10Xw 71977 if one 1s a 1M than if he is not a prmn.

THINKING IT OVER

The 1"7 explains that by "1 7 772 he is the pimn, therefore the "OXW 757 is
effective; seemingly implying that the 70Xw 715 preserves the status quo where the
money is.” However, the same is by o°7v, when they say 117 2°01x 22X (and the
Twuw is 7109) they also maintain the status quo that the money remains 1012 by the
7. What is the difference between the two?!

' mpon is negating (928 1"721 2w 71"72) *"wIo. According to *"wA (See 2,2 »"2) the term X7 X777 means a loss of
money, therefore he explains the X713 here to mean that since the buyer will suffer a loss if he says Tax v 7w 77w
o1, therefore we are more inclined to say that he meant to continue and say 11%°7 7°nnpP?1 so as not to suffer a loss;
however the 07y suffer no loss when they say 77 X377 117 2n3, therefore it is possible that they did not [necessarily]
intend to say 11°°77 00K 7aR. However, Mooin interprets X1mn7 X777 (ibid) to mean that 7"2% P50 w° o7 nNIYy X922
(because each one has a legitimate claim), therefore here too n1901n prefers the 1"7 "5 that X117 X777 means he has
a monetary interest and therefore as a p1mn there is more reason to believe him. See ‘Thinking it over’.

% See (end of) footnote #1.

3 See 1"771 °1272 737 772 W DR,
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